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General Instructions to the Candidate :

1. This Question Paper consists of 47 objective and subjective types of

questions.

2. This question paper has been sealed by reverse jacket. You have to cut on
the right side to open the paper at the time of commencement of the

examination. Check whether all the pages of the question paper are intact.

3. Follow the instructions given against both the objective and subjective

types of questions.

4. Figures in the right hand margin indicate maximum marks for the

questions.

S. The maximum time to answer the paper is given at the top of the question

paper. It includes 15 minutes for reading the question paper.
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Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

10x1=10

The “Mysore State” was renamed as Karnataka in the year

(A) 1973 (B) 1963

(C) 1953 (D) 1956.

The industry established in India with the assistance of Soviet Russia is
(A) Sugar

(B) Fertilizer

(C) Paper

(D) Iron and Steel.

The General Assembly of UNO is regarded as World Parliament because it
(A) supports Human Rights

(B) fights against racial discrimination

(C) consists of all members of UN

(D) works for the welfare of underdeveloped countries.

The practice of untouchability is decreasing because

(A) increasing employment opportunities

(B) increasing literacy

(C) Dbetter health facilities

(D) better transport system.
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5. The North Indian Plain has very high temperature than South India because
itis
(A) alevelled land
(B) getting less rainfall
(C) far from the sea
(D) a desert soil area.
6. The Alamatti dam constructed across River Krishna is named after
(A) Jawaharlal Nehru
(B) Morarji Desai
(C) Charan Singh
(D) Lal Bahadur Shastry.
7. The amendment which added the phrases “Secular” and “Socialist” to our
Constitution is
(A) 52nd (B) 42nd
(€) 22nd (D) 26th.
8. An example for indirect taxes is

(A) Personal Income Tax

(B) Wealth Tax

(C) Corporate Tax

(D) Service Tax.
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9. The bank account which is opened for a purpose to save for future is
(A) Recurring Deposit Account
(B) Current Account
(C) Savings Bank Account
(D) Term Deposit Account.
10. The Chairman of Wipro Technologies is
(A) Dhirubhai Ambani
(B) Ekta Kapoor
(C) Azim Premji
(D) Varghese Kurien.
Answer the following questions in a sentence each : 14x1=14
11. How do historians narrate the lives of ordinary people ?
12. What forced Peshwa Baji Rao II to accept the subsidiary alliance ?
13. Why did Hitler organise “Brown Shirts” ?
14. How can the aim of “Sarva Shiksha Abhiyan” be fulfilled ?
15. How can we eradicate dowry system apart from legal measures ?
16. Why is Mumbai called “Manchester” of India ?
17. What is mixed farming ?
18. How does Agriculture help industries ?
19. It is improper to measure the development of a country with National
Income. Why ?
20. How is Per Capita Income calculated ?
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21. How has the 24th Article of our Constitution warned the industries

regarding child labour ?
22. Why has the export of our mica reduced ?
23. Why was the UNICEF established ?
24. Who is an entrepreneur ?
III. Answer the following questions in two to four sentences each : 15 x2 =30
25. What were the results of Battle of Plassey ?

26. How did Tipu prepare himself to fight against the British after the IIIrd

Anglo-Mysore War ?

27. Mention the reforms of Jyotiba Phule.

28. What were the causes for Russian Revolution ?
OR
What were the causes for First World War ?
29. What are the remedial measures to check profiteering ?
30. Why was the agitation against Kaiga carried out ?
31. What does the Universal Declaration of Human Rights prohibit ?
32. Write about the economic importance of Peninsular Plateau.
33. What are the causes for soil erosion ?
34. What are the methods of conservation of forests ?
35. Remote Sensing technology is very useful. How ?
36. What are the effects of landslides ?
37. How can human migration be controlled ?
38. What are the achievements of Five Year Plans ?

39. How does globalization lead to environmental degradation ?
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Answer the following questions in six sentences each : 6x3=18

40.

41.

42.

43.

44.

45.

The economic changes in India were responsible for the First War of Indian

Independence. How ?
OR
How did the British bring the changes in the field of education ?
Explain the objectives of Indian foreign policy.
OR
Explain the relationship between India and the USA as democratic nations.

Explain the constitutional and legal measures undertaken to eradicate

untouchability.
OR
Explain the problems of unorganized labourers.

What is the role of Road Transport in the economic development of a

country ?
OR
What are the factors that influence the localization of industries ?

How do Women Self Help groups contribute towards building a clean and

progressive society ?

OR
How does the government incur non-tax revenue ?
Explain the functions of banks.

OR

Explain the importance of insurance.
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V. Answer the following question in about eight to ten sentences : 4
46. Explain the role of Subhash Chandra Bose in the freedom struggle of India.
VI. 47. Draw an outline map of India and mark the following : 1+3=4
a) 23%0 North latitude
b) North Indian Plain

c) Bombay High.

Alternative Question for Blind Candidates only : (In lieu of Q. No. 47)

What are the uses of the Himalayas to the life of Indians ? 4

RR (B)-1536 *




85-E

CCE RR

RR (B)-1536 *




